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For each, state whether the triangles are congruent by A: SSS, B: SAS, C: ASA (AAS), or D: HL and
bubble your answer below.

Bubble the correct answer choice from each item above.
#1. #2. #3. #4, #5. #6. #7. #8. #9. #10.
QA. OA. OA. OA. OA. QOA. OA. OA. OA. QOA.
OB. OB. OB. OB. OB. OB. OB. OB. OB. OB.
Oc. Oc. Oc. Oc. Oc. Oc. Oc. Oc. Oc. OcC.
QD. OD. QOD. QOD. Ob. QD. OD. QOD. ODb. Ob.
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List all the congruent parts. Then state whether (2.
the triangles are congruent by A: SSS, B: SAS, C:
ASA (AAS), or D: HL and bubble your answer.

BC=EF given
AC=DF given

So AABC=ADEF
by SAS.
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Bubble the correct answer choice from each item above.
#1, #2. #3. #4, #5.
OA. OA. OA. OA. OA.
OB. OB. OB. OB. OB.
¢ G, OcC. QOcC. OcC. Oc.
O D' O D' O D‘ O Dn O D.
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On some of these, you might need to find some
hidden congruent parts. Also..some are not
necessarily congruent. If they aren't, don't bubble
anything. The first two are examples. Give it a go.

> Shared Line

B CA=BD given
£CAD=£ADB given
AD=AD shared line

So ACAD=ABDA
by SAS.
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Bubble the correct answer choice from each item above.
#9 #10 #11 #12 #13 #14 #15 #16
OA. OA. OA. OA. OA. OA. QA QA.
OB. OB. OB. OB. OB. OB. OB. OB.
OC. OcC. QOc. Oc. OC. OcC. OcC. Oc.
OD. OD. OD. QOD. OD. OD. OD. OD.
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Bubble the correct answer choice from each item above.
#17 #18 #19 #20 #21 #22 #23 #24
OA. OA. OA. OA. OA. OA. OA. OA.
OB. OB. OB. OB. OB. OB. OB. OB.
Oc. OcC. Oc. (@] OC. OcC. OC. OcC.
OD. OD. Ob. OD. OD. Ob. Cil. OD.
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Bubble the correct answer choice from each item above.

#25 #26 #27 #28 #29 #30 #31 #32
OA. OA. OA. OA. OA. OA. OA. OA.
OB. OB. OB. OB. OB. OB. OB. OB.
oc. oc. oc. oc. oc. oc. 0c oc.
OD. OD. OD. OD. OD. OD. OD. OD.
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What additional information is needed to show 2. ssg
the triangles are congruent by the given property? X A, XT=VW
1. SAS — — B. £X=2Y
- ' A. AC=CD gy =
B~ ~ w C. YZ=XZ
> B 2434D D. WZ=XZ
_AB=TD " S
D. £ABC=£DBC
- Z
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3. AAS 4, SAS A, £QPS=45QP
B. 2QSP=£RSP
A. £I1G]=£HGI Q C. 2QSP=RPS
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5. | SAS 6. SAS A. Nothing
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C. £B=¢E cia s sl gl
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A, WR=AR
w B. AS=AR
A 5 SO
B A =B C. WR=AS
B, CD=AB D. ZRAS=ZARW
C. £BAD=£ABD _
D. 2C=/BDA W
R 5
Bubble the correct answer choice from each item above.
#1 #2 #3 #4 #5 #6 #7 #8
OA. OA. OA. OA. OA. OA. OA. OA.
OB. OB. OB. OB. OB. OB. OB. OB.
O QcC. G OcC. G, o QL. Oc.
OD. OD. OD. OD. OD. OD. OD. OD.
© 2010 www.letspracticegeometry.com



